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QUESTION 1

Which hidden directory points to a Snapshot copy from an SMB client?
A. /snapshot

B. .snapshot

C. snapshot

D. %snapshot

Correct Answer: C

hidden ~snapshot directory is accessible Reference: https://library.netapp.com/ecmdocs/ECMP1196891/
html/GUID-6D832809- 1E60-4041-BF08-D390CB6B3D89.html

The method that you use to access the ~snapshot directory from Windows clients using SMB

https://library.netapp.com/ecmdocs/ECMP1196891/html/GUID-6D832809-1E60-4041- BFO8D390CB6B3D89.html

QUESTION 2

When a client transverses a junction, the client has entered:
A. a different Vserver

B. a different volume

C. a different junction

D. a different cluster

Correct Answer: B

QUESTION 3

How many cluster switch (es) are required for a NetApp cluster?
Al

B.2

C. 4

D.6

Correct Answer: B
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QUESTION 4

What are two capabilities of Vserver setup? (Choose two)
A. It licenses Vserver functionality

B. It joins an exisiting Vserver to the cluster.

C. it creates a new Vserver that can host FCP LUNs.

D. It creates a new cluster Vservers

E. It configures an existing Vserver

Correct Answer: DE

https://library.netapp.com/ecmdocs/ECMP1196798/html/GUID-68CC383E- 06E6-48AF-B7F58B510750EDDE.html

QUESTION 5

What type of configuration is required for SnapVault backup between clusters in two different clustered Data ONTAP or
later systems?

A. Vserver Peer Configuration
B. SnapVault Peer Configuration
C. Backup Peer Configuration
D. Cluster Peer Configuration

Correct Answer: D
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